8007-0132 PRC-2000 Packing List

1100-0307

Updated: 9/11/2015

HOT GRIP REMOVAL PAD 1.00{ EA
6010-0106 ASSY,HANDPIECE,SX-100 1.00| EA
6010-0131 ASSY, HANDPIECE, PS-90 1.00{ EA
7008-0187 POWER SOURCE, PPS 400 1.00| EA
7023-0002 MINI THERMOJET ASSY., TJ-70 1.00{ EA
7024-0001 THERMOPIK ASSY, TP-65 1.00| EA
7025-0001 ASSY,HANDPIECE TT-65 1.00{ EA
cd5050-0459 |CD,PACE MANUALS 7 LANG. 1.00| EA
7950-0036 |TRAY,ACCESS., PRC2000/]1/G 1.00| EA
Pd [ e DTIO U
1100-0232 ASSY, TOOL,CLEANING,FIBER 1.00{ EA
1100-0233 ASSY, TOOL,CLEANING,SPONGE 1.00| EA
1127-0013 BRUSH, FIBER FILLER 2.00| EA
1309-0028 VISIFILTER 2 2.00{ EA
1351-0542 LABEL, HANDPIECE, IDENT. 1.00{ EA
4021-0013 Sponge, Tip and Tool Stand 3.00| EA
1257-0186-01 STAND, CHART HOLDER, PKG 1 A93 1.00| EA
4021-0006-M5 |SPONGE,FILLER,REPLACE,SX 1.00( EA
Pa . D€ » 0 U
4021-0006 SPONGE, FILLER,REPLACE,SX 5.00{ EA
6021-0006 CLEANING STATION, SMT 1.00| EA
Pd . DE » 0 U
1317-0025 PAD, NEO.,.5X.5X.12 S/S ADH 4.00{ EA
1317-0026 PAD, NEO.,2X2X.06 D/S ADH 1.00| EA
1321-0229 DISH, CLEANING STATION 1.00{ EA
1321-0428 STAND, CLEANING STATION 1.00| EA
1405-0633 SCR,PAN,6-32X2.75,SSNASL 1.00{ EA
1410-0093 NUT, THUMB #6=32,BRASS,NICKEL PLATED 1.00| EA
4021-0007 SPONGE, CLEANING STATION 7.00] EA
5050-0285 INST SHEET, CLEAN STATION 1.00| EA
6993-0136 KIT, CABLE MARKER, C-TYPE 1.00| EA
Pd . DE » 0 U
1351-0522-01 LABEL, CABLE MARKER, WHITE 2.00{ EA
1351-0522-02 LABEL, CABLE MARKER, RED 2.00{ EA
1351-0522-03 LABEL, CABLE MARKER, BROWN 2.00] EA
1351-0522-04 LABEL, CABLE MARKER, BLUE 2.00{ EA
1351-0522-05 LABEL, CABLE MARKER, GREEN 2.00] EA
1351-0522-06 LABLE, CABLE MARKER, PURPLE 2.00{ EA
1351-0522-07 LABEL, CABLE MARKER, YELLOW 2.00] EA
1351-0522-08 LABEL, CABLE MARKER, ORANGE 2.00{ EA
7900-0030 KIT,ACCESS., PRC 2000/3/2M 1.00| EA
Pd . DE » 0 U
1100-0206 TOOL, TIP 1.00{ EA
1100-0234 ASSY, TOOL,TIP ALIGNMENT 1.00| EA
1121-0322-002-P1 |TIP,TP,.66X.90ID,FP,PKG1 A06 1.00{ EA
1121-0336-P5 TIP, IR, 1/32 CON 1.00| EA
1121-0337-P5 TIP, IR, 1/8 CHSL 1.00{ EA
1121-0338 TIP, TJ,SINGLEJET, CURVED 1.00| EA
1121-0371 TIP, TJ, FLAT END, .24 X .074 1.00{ EA
1121-0414-P5 TIP, IR, 1/16 CHSL, HC 1.00| EA
1121-0930-P5 SX-100 T DTIP,.03"X.08" AQ6 1.00{ EA
1121-0931-P5 SX-100 T D TIP .04" X .09" 1.00| EA
1121-0932-P5 SX-100 T D TIP,.06"X.12" 1.00{ EA
1121-0946-P5 SX-100 FLO-D-SODR.02"X.07" A06 1.00| EA




8007-0132 PRC-2000 Packing List
1121-0948-P5 SX-100 FLO-D-SODR,.04"X.09" A06 1.00{ EA
1159-0253 FUSE, 5.0A, TIME LAG, UL 1.00{ EA
1159-0257 FUSE,3AG 32V,12A,1/4X1-1/4 1.00{ EA
1211-0036 CLAMP, HOSE, REUSABLE 3.00] EA
1259-0086 DISCONNECT,QUICK,FEM.,HOSE 4.00[ EA
1259-0087 DISCONNECT,QUICK,MALE,HOSE 5.00] EA
1311-0017 CONTAINER, PLASTIC BOX 1.00{ EA
1321-0085-01 HOLDER, TUBE TO WIRE BLACK 18.00| EA
1348-0547 SCR,SET,8-32X.13,SNASL 10.00| EA
1405-0182 SCR,FIL,2-56X.16,STZISL 5.00] EA
5050-0496 PROMO FLUX/SODR KIT INSERT 1.00] EA
1309-0054 ASSEMBLY, FLUX/SODR TRAP 3.00] EA
6993-0153 KIT,VACUUM CUP 1.00| EA
Pd « e DTIC 0
1121-0382 [VACUUM CUP S.D.,.195DIA 1.00{ EA
1121-0383 [VACUUM CUP S.D.,.300DIA 1.00{ EA
1121-0384 [VACUUM CUP S.D.,.500DIA 1.00{ EA
7950-0038 |CUBBY,ACCES., PRC 2000/E/J 1.00| EA
Pd [l e DTIC 0
6019-0081 PS-90 Tip & Tool Stand 1.00{ EA
6019-0082 SX Tip & Tool Stand 3.00| EA
7950-0039 |HANDPIECE, ACC, PRC 2000/3/2M 1.00| EA
P d [l e DTIC 0
1100-0230 SCREWDRIVER, PACE 1.00{ EA
1121-0300-P1 TIP,MULTIPOINT SMD .44 1.00{ EA
1121-0301-P1 TIP, TAPERED,FLAT,PAIR 1.00{ PR
1121-0313-p1 TIP,TT,CHIP COMP,.08W,PR,P1 1.00{ PR
1127-0014 BRUSH, WIRE 3/16 DIA,6IN LG 1.00{ EA
1265-0011 GLASS CHAMBER,SX-100 SODR-X-TRACTOR 1.00{ EA
1309-0018 FILTER,FELT 2.00] EA
1325-0003-07 TUBING,PVC,CLEAR,.125ID,1IN 5.00] EA
1332-0094 POWER CORD, DETACHABLE, 115V 1.00{ EA
1332-0159 CORD, PROBE BRAKE PATCH 1.00{ EA
1342-0015-08 TUBING, SILICONE, .125 ID, 54L, BLK 3.00] EA
4010-0115 Z-BAFFLE 1.00{ EA
5050-0046 INSTRUCTIONS TW-15 1.00{ EA
5050-0251 CHART, TIP & TEMP 1.00{ EA
5050-0504 INSTRUCTION SHEET, F/S TRAP KT 1.00{ EA
6000-0008 TIP, SINGLE-POINT LAPFLO 1.00] EA
6000-0009 TIP, THERMO PART REMOVAL 1.00{ EA
6008-0115 FOOT PEDAL, TREADLITE 1.00] EA
6019-0083 TT-65 Tip & Tool Stand 1.00{ EA
6993-0200 KIT,TIP CLEANER 1.00{ EA
7000-0023 POWER CORD,UNIV.,SPADE LUG 1.00{ EA
7009-0005 TW-15 RESISTWEEZ 1.00{ EA
7013-0004-02 LF-15 LAPFLO HANDPIECE D 1.00{ EA
7026-0001 MICROCHINE ASSY., MC-65 1.00{ EA
6019-0038 KIT, CUBBY, PASTE DISPENSER 1.00| EA
Pd [l e DTIC 0
1251-0076 BUSHING, SNAP, .75 1D, 1.0 OD 1.00{ EA
1257-0126 STAND, HOT CUBBY 1.00{ EA
1257-0173 BASE, STAND 1.00{ EA
1405-0398-02 SCR, SEM, 6-32 X .331, SSNACR 2.00| EA
1410-0088 NUT,HEX,6-32 SM. PATTERN 2.00| EA
5050-0314 INST. SHEET, CUBBY, PASTE DISP. 1.00] EA
6993-0105 KIT, GUIDE BLOCK 1.00| EA




8007-0132 PRC-2000 Packing List

STOP, MOLDED, GUIDE BLOCK

1140-0025 1.00{ EA

1321-0148 BLOCK, GUIDE, TWEEZER 1.00{ EA

1405-0005 SCR, PAN, 2-56 X .38, BRNISL 1.00{ EA

1410-0085 NUT, HEX, 2-56 STAINLESS STEEL 1.00{ EA

5050-0202 INSTRUCTION, GUIDE BLOCK 1.00{ EA

7027-0001-M HANDPIECE, PV-65, PIK-VAC 1.00| EA
Pd [ e DTIC J

1259-0136 DISCONNECT, QUICK, MALE, HOSE 2.00| EA

1342-0015-08 TUBING, SILICONE, .125 ID, 54L, BLK 1.00{ EA

1349-0275 TY-WRAP, SUB-MINIATURE 5.00] EA

7027-0001 HAND-PIECE, PIK-VAC, PV-65 1.00{ EA

6993-0154 KIT, VACUUM CUP, PIK-VAC 1.00| EA
Pd [ e DTIC J

1121-0382 [VACUUM CUP S.D.,.195DIA 1.00{ EA

1121-0383 [VACUUM CUP S.D.,.300DIA 1.00{ EA

1121-0384 [VACUUM CUP S.D.,.500DIA 1.00{ EA

1121-0413 [TIP, VAC, 45 BEND, .060 ID, OLIVE 3.00] EA

6021-0007 REDI-RAK, TIP STORAGE ASSY 1.00| EA
Pa [ e PTIC J

1321-0236 STAND, REDI-RAK 1.00{ EA

1405-0030 SCR,PAN,6-32X.44,STZISL 2.00] EA

1410-0088 NUT, HEX, 6-32 SM. PATTERN 2.00| EA

CD5050-0459 CD,PACE MANUALS 7 LANG. 1.00{ EA

6019-0022 CUBBY KIT, SMR 1.00| EA
Pa [ e PTIC J

1257-0140 STAND, CUBBY 1.00{ EA

1405-0027 SCR,PAN,6-32X.25,STZISL 2.00] EA

1410-0088 NUT, HEX, 6-32 SM. PATTERN 2.00| EA

6019-0023 KIT, REDI-RAK, HANDPIECE 1.00| EA
Pa C e PTIC 0

1257-0150 HOLDER, TOOL 1.00{ EA

1405-0031 SCR,PAN,6-32X.50,STZISL 2.00| EA

1410-0088 NUT, HEX, 6-32 SM. PATTERN 2.00] EA

1415-0059 WASHER, SPLIT LOCK #6, steel zinc plated 2.00| EA

6993-0152 KIT, DISPENSER, PASTE 1.00| EA
Pa C e PTIC 0

1121-0409 TIP, DISP., .023ID, PINK 5.00] EA

1121-0410 TIP, DISP., .020ID, PURPLE 5.00] EA

1121-0411 TIP, DISP., .016 ID, BLUE 5.00] EA

1121-0412 TIP, DISP., .013 ID, ORANGE 5.00] EA

1211-0036 CLAMP, HOSE, REUSABLE 1.00{ EA

1259-0087 DISCONNECT,QUICK,MALE,HOSE 1.00{ EA

1259-0091 ADAPTER, BARREL, 10CC 1.00{ EA

1342-0015-07 TUBING,SIL.,.125ID,36L,BLK 1.00{ EA

6005-0013 TOOL PACK, DELUXE 1.00| EA
Pa C e PTIC 0

1112-0001 BALL MILL, 1/64IN NOM.DIA 2.00| EA

1112-0002 BALL MILL, 1/32IN NOM.DIA 2.00| EA

1112-0003 BALL MILL,1.20MM DIA (.047) 2.00| EA

1112-0004 BALL MILL,1.50MM DIA (.059) 2.00| EA

1112-0005 BALL MILL, 3/32IN NOM.DIA 1.00{ EA

1112-0006 BALL MILL, 1/8IN NOM.DIA 1.00{ EA

1112-0007 BALL MILL, 5/32IN NOM.DIA 1.00{ EA

1112-0008 BALL MILL, 3/16 NOM.DIA 1.00{ EA

1112-0032 TWIST DRILL, 3/64 NOM.DIA. 1.00{ EA

3




8007-0132 PRC-2000 Packing List

1112-0033 TWIST DRILL, 1/16 NOM.DIA. 1.00| EA
1112-0034 TWIST DRILL, 5/64 NOM.DIA. 1.00| EA
1112-0035 TWIST DRILL, 3/32 NOM.DIA. 1.00| EA
1112-0061 SAW, CIRCULAR 3/32IN DIA 1.00| EA
1115-0001 MANDREL, W/ SCREW IN TOP 1.00| EA
1115-0002 MANDREL, THREADED TOP 2.00] EA
1127-0005 BRUSH, 9/16IN UNMOUNTED 2.00] EA
1127-0007 BRUSH, BRISTLE MTD 1.00| EA
1127-0010 BRUSH, DOUBLE BRISTLE UNMTD 1.00| EA
1129-0001 ABRASIVE, WHEEL FINE 2.00] EA
1129-0002 ABRASIVE, WHEEL COARSE 1.00| EA
1129-0003 ABRASIVE, 5/8IN TAPERED 1.00| EA
1129-0004 ABRASIVE, 5/8IN TAPERED 2.00] EA
1129-0007 ABRASIVE, BULLET, FINE 3.00] EA
1129-0008 ABRASIVE, BULLET, COURSE 3.00] EA
1311-0016 CONTAINER, PLASTIC BOX 1.00| EA
1317-0002 PAD, FOAM 2.00] EA
1321-0070 PIN, BULLET WHEEL HOLDING 6.00] EA
6019-0002 STAND DRILL 1.00| EA
6019-0003 STAND WHEEL 1.00| EA




